SUNWAY °
@:LE“ Hose Fitting

Two-Piece Fitting



CONGI

Two—Piece Fitting T
A
C SW10311
/// LT T T T TT
" JB O-RING METRIC MALE FLAT SEAL
1 JJ REF. JB/T 988
H
T O DR HOSE BORE DIMENSIONS
i DN DASH C H A
SW10311-12-04 M12X1.25 6 04 10 14 22.5
SW10311-14-04 M14X1.5 8 04 11 14 23.5
SW10311-16-04 M16X1.5 6 04 11 17 23.5
SW10311-16-05 M16X1.5 8 05 11 17 23.5
SW10311-16-06 M16X1.5 10 06 11 17 23.5
SW10311-18-06 M18X1.5 10 06 11 19 23.5
SW10311-22-05 M22X1.5 8 5 12 24 26
SW10311-22-06 M22X1.5 10 06 12 24 27
SW10311-22-08 M22X1.5 12 08 12 24 27
SW10311-27-10 M27X1.5 16 10 13 30 31.5
SW10311-30-12 M30X1.5 20 12 14 32 33.5
SW10311-36-12 M36X2 20 12 16 38 35.5
SW10311-39-16 M39X2 25 16 16 41 39
SW10311-45-20 M45X2 32 20 20 46 44.5
SW10311-52-24 M52X2 40 24 22 55 47.5
SW10311-64-32 MB4X2 50 32 27 65 52.5
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is SW10312-xx-xx.

02-01



Two—Piece Fitting

QTyLen

COMLITEHOALE B COUL NGS
Weite v rmsmfles o6

24°

02-02

SW10411

METRIC MALE 24° CONE SEAT L.T.
REF.DIN 3853 /1SO 8434-1

S1
HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH TUBE O.D. A C S1
SW10411-12-04 M12X1.5 6 04 6 20.5 10 12
SW10411-14-04 M14X1.5 6 04 8 20.5 10 14
SW10411-14-05 M14X1.5 8 05 8 21.5 10 14
SW10411-16-04 M16X1.5 6 04 10 22.5 11 17
SW10411-16-05 M16X1.5 8 05 10 22.5 11 17
SW10411-16-06 M16X1.56 10 06 10 22.5 11 17
SW10411-18-05 M18X1.5 8 05 12 23.5 11 19
SW10411-18-06 M18X1.5 10 06 12 225 11 19
SW10411-22-06 M22X1.5 10 06 1.5 24.5 12 24
SW10411-22-08 M22X1.5 12 08 15 26 12 24
SW10411-26-08 M26X1.5 12 08 18 26.5 12 27
SW10411-26-10 M26X1.5 16 10 18 26.5 12 27
SW10411-27-10 M27X1.5 16 10 18 29.5 14 30
SW10411-30-10 M30X2 16 10 22 29.5 14 32
SW10411-30-12 M30X2 20 12 22 30 14 32
SW10411-36-16 M36X2 25 16 28 31.5 14 38
SW10411-45-20 M45X2 32 20 35 37 16 46
SW10411-52-24 M52X2 40 24 42 38 16 55




Two—Piece Fitting

[T =g rrre——

24"

A
C
‘__ SW10511
b—|
L METRIC MALE 24° CONE SEAT H.T.
-+ — REF.DIN 3853 /1SO 8434-1
S1
HOSE BORE DIMENSIONS

PART NO. THREAD ON DASH | TUBEO.D. — C ST
SW10511-14-04 | M14X1.5 6 04 6 245 | 12 14
SW10511-16-04 | M16X1.5 6 04 8 26.5 | 12 17
SW10511-18-04 | M18X1.5 6 04 10 265 | 12 19
SW10511-20-05 | M20X1.5 8 05 12 27 12 22
SW10511-20-06 | M20X1.5 10 06 12 265 | 12 22
SW10511-22-05 | M22X1.5 8 05 14 305 | 14 24
SW10511-22-06 | M22X1.5 10 06 14 305 | 14 24
SW10511-22-08 | M22X1.5 12 08 14 31 14 24
SW10511-24-08 | M24X1.5 12 08 16 315 | 14 27
SW10511-30-10 | M30X2 16 10 20 345 | 16 32
SW10511-30-12 | M30X2 20 12 20 36 16 32
SW10511-36-12 | M36X2 20 12 25 405 | 18 41
SW10511-36-16 | M36X2 25 16 25 415 | 18 38
SW10511-42-16 | M42X2 25 16 30 44 | 20 | 46
SW10511-42-20 | M42X2 32 20 30 45 | 20 46
SW10511-52-20 | M52X2 32 20 38 50 | 22 55

02-03



Two—Piece Fitting

SONLY

[ ———

60°

02-04

_J;j
LT T I T T T T I T T

L I

SW10611

METRIC MALE DOUBLE USE FOR

W| 60° CONE SEAT OR BONDED SEAL
| 1L
S1
HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A C 51
SW10611-14-04 M14X1.5 6 04 23.5 11 19
SW10611-14-06 M14X1.5 10 06 25 11 19
SW10611-16-04 M16X1.5 6 04 27.5 12 22
SW10611-16-05 M16X1.5 8 05 27.5 12 22
SW10611-18-06 M18X1.5 10 06 27.5 12 24
SW10611-22-06 M22X1.5 10 06 30.5 14 27
SW10611-22-08 M22X1.5 12 08 31 14 27
SW10611-24-10 M24X1.5 16 10 35 14 30
SW10611-26-10 M26X1.5 16 10 34.5 16 32
SW10611-27-10D M27X1.5 16 10 35 16 32
SW10611-27-10 M27X2 16 10 34.5 16 32
SW10611-30-12D M30X1.5 20 12 38 18 36
SW10611-30-12 M30X2 20 12 38 18 36
SW10611-33-16 M33X2 25 1 16 40 18 41
SW10611-42-20 M42X2 32 20 46 20 50
SW10611-45-20 M45X2 32 20 46 20 55
SW10611-48-24 M48X2 40 24 46 20 55
SW10611-52-24 M52X2 40 24 46 20 60




Two-Piece Fitting

A
C
f§§5§;;k;;}af/?77?777777777~
v

SW10711

S1
PART NO. THREAD E HOSE BORE DIMENSIONS

: DN DASH A C S1
SW10711-10-02 M10X1 4 02 23 12.5 14
SW10711-10-03 M10X1 5 03 23 12.5 14
SW10711-12-03 M12X1.5 5 03 26.5 | 156.7 14
SW10711-12-03C| M12X1.25 5 03 24.5 14 14
SW10711-14-04 M14X1.5 6 04 29.5 17 17
SW10711-14-08 M14X1.5 10 06 30.5 18 17
SW10711-16-05 M16X1.5 8 05 30.5 18 17
SW10711-16-086 M16X1.5 10 06 30.5 18 17
SW10711-18-06 M18X1.5 10 06 30.5 18 19
SW10711-22-08 M22X1.5 12 08 35 19.5 24
SW10711-24-08 M24X1.5 12 08 35.5 20 27
SW10711-27-10 M27X1.5 16 10 38 20 30
SW10711-30-12 M30X1.5 20 12 42.5 23 32
SW10711-30-12E M30X2 20 12 45.5 26 32
SW10711-33-12 M33X2 20 12 46 26 36
SW10711-36-14 M36X2 22 14 45 26 38
SW10711-39-16 M39X2 25 16 48 27.5 41
SW10711-42-20 M42X2 32 20 52 28.5 46
SW10711-45-20 M45X2 32 20 52 28.5 46
Note: 1.For use with braided hoses.

2.If use with spiral hoses, hose fitting series number is SW10712-xx-xx.

GB METRIC MALE 74° CONE

02-05



| e ( ‘LENA
Two—Piece Fitting Cr e

A LOCK NUT

'_m'/i%urm —_—_—_— W y%nr ———
90°(>uJ|. ; . o
W e

.-

S1
SW10811L SW10811L-LN
METRIC MALE S0° CONE
PART NO. THREAD E DN DASH A C S1 S2
SW10811L-12-04 M12X1.5 6 04 46 34 17 17
SW10811L-12-04A M12X1 6 04 44.5 | 32.5 17 17
SW10811L-14-04 M14X1.5 6 04 46 34 17 19
SW10811L-14-06 M14X1.5 10 06 46.5 34 17 19
SW10811L-16-04 M16X1.5 6 04 46.5 34 19 22
SW10811L-16-06 M16X1.5 10 06 46.5 34 22 22
SW10811L-20-06 M20X1.5 10 6 57 40 27 27
SW10811L-20-08 M20X1.5 12 08 57.5 40 27 27
SW10811L-22-08 M22X1.5 12 08 62.5 45 27 27
Note: if you are interested to order the fitting with lock nut,please insert suffix "LN" after our part no.
for example,SW10811L-12-04LN.

02-06



| - ( ‘LEWA
Two—Piece Fitting o

[y

SW12211

BSP MALE O-RING SEAL

PART NO. THREAD E HOREPRE O-RING DIMENSIONS

DN DASH A C S1
SW12211-04-04 G1/4"X19 6 04 0111 25 11 19
SW12211-04-06 G1/4"X19 10 06 o111 23.5 11 19
SW12211-06-06 G3/8"X19 10 06 0113 26 11.5 24
SW12211-08-04 G1/2"X14 6 04 0115 30 14 27
SW12211-08-06 G1/2"X14 10 06 0115 32 14 27
SW12211-08-08 G1/2"X14 12 08 0115 32.5 14 27
SW12211-10-10 G5/8"X14 16 10 0910 33 15.5 30
SW12211-12-10 G3/4"X14 16 10 0119 33 15.5 36
SW12211-12-12 G3/4"X14 20 12 0119 35.5 15.5 36
SW12211-12-16 G3/4"X14 25 16 0119 365 | 1556 36
SW12211-16-16 G1"X11 25 16 0217 425 18.6 41
SW12211-20-20 | G1.1/4"'X11 32 20 0222 46 20 50

02-07



Two—Piece Fitting

SN 1%

[T r——

02-08

60°

J

SW12611

BSP MALE 60° CONE SEAT

HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH A C S1
SW12611-02-03 G1/8"X28 5 03 22 10 12
SW12611-04-04 G1/4"X19 6 04 24.5 12 14
SW12611-06-05 G3/8"X19 8 05 26 13.5 17
SW12611-06-06 G3/8"X19 10 06 26 13.5 17
SW12611-06-08 G3/8"X19 12 08 265 | 13.5 19
SW12611-08-06 G1/2"X14 10 06 30.5 16 22
SW12611-08-08 G1/2"X14 12 08 31 16 22
SW12611-10-08 G5/8"X14 12 08 325 | 17.5 24
SW12611-10-10 G5/8"X14 16 10 33.56 | 17.5 24
SW12611-12-08 G3/4"X14 12 08 355 | 18.5 27
SW12611-12-10 G3/4"X14 16 10 36.5 | 18.5 27
SW12611-12-12 G3/4"X14 20 12 36.5 | 18.5 27
SW12611-16-12 G1"X11 20 12 40.5 | 20.5 36
SW12611-16-16 G1"X11 25 16 41.5 | 20.5 36
SW12611-20-16 G1.1/4"X11 25 16 435 | 20.5 46
SW12611-20-20 G1.1/4"X11 32 20 46.5 | 20.5 46
SW12611-24-20 G.1/2"X11 32 20 49 23 50
SW12611-24-24 G.1/2"X11 40 24 49 23 50
SW12611-32-32 G2"X11 50 32 53.5 | 256.5 65




| o ‘ ‘LEWN
Two—Piece Fitting L]

SW12611A

BSP MALE DOUBLE USE FOR 60°
CONE SEAT OR BONDED SEAL

PART NO. THREAD E HOSE BORE DIMENSIONS

DN DASH A C S1
SW12611A-02-03 G1/8"X28 5 03 22 10 14
SW12611A-04-04 G1/4"X19 6 04 24.5 12 19
SW12611A-04-05 G1/4"X19 8 05 24.5 12 19
SW12611A-06-05 G3/8"X19 8 05 26 13.5 22
SW12611A-06-06 G3/8"X19 10 06 28 13.5 22
SW12611A-06-08 G3/8"X19 12 08 285 | 13.5 22
SW12611A-08-06 G1/2"X14 10 06 33 16 27
SW12611A-08-08 G1/2"X14 12 08 33 16 27
SW12611A-08-10 G1/2"X14 16 10 34 16 27
SW12611A-10-08 G5/8"X14 12 08 35 17.5 30
SW12611A-10-10 G5/8"X14 16 10 355 | 17.5 30
SW12611A-12-08 G3/4"X14 12 08 365 | 185 32
SW12611A-12-10 G3/4"X14 16 10 375 | 18.5 32
SW12611A-12-12 G3/4"X14 20 12 375 | 185 32
SW12611A-16-12 G1"X11 20 12 425 | 205 41
SW12611A-16-16 G1"X11 25 16 43.5 | 20.5 41
SW12611A-20-16| G1.1/4"X11 25 16 455 | 20.5 50
SW12611A-20-20| G1.1/4"X11 32 20 46.5 | 20.5 50
SW12611A-24-24| G.1/2"X11 40 24 49 23 55
SW12611A-32-32 G2"X11 50 32 54.5 | 255 70

02-09



Two—Piece Fitting

[ rE———

-

A

-

LG
..-. fcég%ng7?7777€ﬁﬁff7v Tr—

B I o SW13011-SP
] J BSPT MALE
\E
HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A C 51
SW13011-02-03SP R1/8"X28 5 03 22 10 12
SW13011-02-04SP R1/8"X28 6 04 225 10 12
SW13011-04-04SP R1/4"X19 6 04 27 145 14
SW13011-04-055P R1/4"X19 8 05 27 145 14
SW13011-04-06SP R1/4"X19 10 06 27 14.5 17
SW13011-06-04SP R3/8"X19 6 04 27.5 15 17
SW13011-06-05SP R3/8"X19 8 05 27.5 15 17
SW13011-06-06SP R3/8"X19 10 06 27.5 15 17
SW13011-06-08SP R3/8"X19 12 08 28 15 19
SW13011-08-06SP R1/2"X14 10 06 345 20 22
SW13011-08-08SP R1/2"X14 12 08 35 20 22
SW13011-08-10SP R1/2"X14 16 10 35.5 20 22
SW13011-08-12SP R1/2"X14 20 12 38 20 27
SW13011-12-08SP R3/4"X14 12 08 37 20 27
SW13011-12-10SP R3/4"X14 16 10 38 20 27
SW13011-12-12SP R3/4"X14 20 12 38.5 20 27
SW13011-12-16SP R3/4"X14 25 16 40.5 20 32
SW13011-16-12SP R1"X11 20 12 435 255 36
SW13011-16-16SP R1"X11 25 16 45 255 36
SW13011-20-20SP | R1.1/4"X11 32 20 49.5 26.5 46
SW13011-24-24SP | R1.1/2"X11 40 24 52.5 26.5 50
SW13011-32-24SP R2"X11 40 24 57 30 65
SW13011-32-32SP R2"X11 50 32 57 30 65

02-10



Two—-Piece Fitting

: S SAE O-RING MALE
B | .

PART NO. THREAD E WOSE BORE O-RING DIMENSIONS
DN DASH A B S1
SW14211-04-04 9/16"X18 6 04 0011 22.5 10 17
SW14211-06-04 11/16"X16 6 04 0012 24 11.2 19
SW14211-06-06 11/16"X16 10 06 0012 24 11.2 19
SW14211-08-06 13/16"X16 10 06 0014 27.5 13 22
SW14211-08-08 13/16"X16 12 08 0014 28.5 13 22
SW14211-08-10 13/16"X16 16 10 0014 28.5 13 22
SW14211-10-08 1"X14 12 08 0016 32.5 15.5 27
SW14211-10-10 1"X14 16 10 0016 33.5 15.56 27
SW14211-12-08 1.3/16"X12 12 08 0018 35.5 17 32
SW14211-12-10 1.3/16"X12 16 10 0018 36 17 32
SW14211-12-12 1.3/16"X12 20 12 0018 36.5 17 32
SW14211-16-12 1.7/16"X12 20 12 0021 37 17.5 38
SW14211-16-16 1.7/16"X12 25 16 0021 38.5 17.5 38
SW14211-20-20 1.11/16"X12 32 20 0025 41.5 17.5 46
SW14211-24-24 2"X12 40 24 0029 46.5 17.5 55

02-11



'SON ‘LEA

Two—Piece Fitting LT

SW15611
NPT MALE
HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A c 51
SW15611-02-03 Z1/8"X27 5 03 215 | 10.5 12
SW15611-02-04 21/8"X27 6 04 225 | 10.5 12
SW15611-04-03 Z1/4"X18 5 03 27 15 17
SW15611-04-04 Z21/4"X18 6 04 28 15 17
SW15611-04-05 21/4"X18 8 05 28 15 17
SW15611-04-06 21/4"X18 10 06 27.5 15 17
SW15611-06-04 23/8"X18 6 04 29 16 19
SW15611-06-05 Z3/8"X18 8 05 29 16 19
SW15611-06-06 23/8"X18 10 06 29 16 19
SW15611-06-08 Z23/8"X18 12 08 30.5 16 19
SW15611-08-06 Z21/2"X14 10 06 34 19.5 22
SW15611-08-08 Z1/2"X14 12 08 345 | 195 22
SW15611-08-10 Z21/2"X14 16 10 355 | 195 22
SW156611-12-08 23/4"X14 12 08 375 | 19.5 27
SW15611-12-10 Z23/4"X14 16 10 375 | 19.5 27
SW15611-12-12 Z3/4"X14 20 12 385 | 19.5 27
SW15611-12-16 23/4"X14 25 16 39.5 | 19.5 32
SW15611-16-10 Z21"X11.5 16 10 45 25.5 36
SW15611-16-12 Z1"X11.5 20 12 45 255 36
SW15611-16-16 Z1"X11.5 25 16 465 | 25.5 36
SW15611-20-16 Z1.1/4"X11.5 25 16 49.5 | 26.5 46
SW15611-20-20 21.1/4"X11.5 32 20 50.5 | 26.5 46
SW15611-24-24 Z1.1/2"X11.5 40 24 51 27.5 50
SW15611-32-32 Z2"X11.5 50 32 55 27.5 65

02-12



Two—Piece Fitting m

A ,
C
SW16011
Wi - - - -
| SAE O-RING MALE
' ISO 11926--SAE J1926
S1
HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH O RING A C S1
SW16011-04-04 7/16"X20 6 04 0904 21.5 9.1 14
SW16011-05-04 1/2"X20 6 04 0905 21.5 9.1 17
SW16011-06-05 9/16"X18 8 05 0906 22.5 9.9 17
SW16011-06-06 9/16"X18 10 06 0906 22.5 9.9 17
SW16011-08-06 3/4"X16 10 06 0808 23.5 11.1 22
SW16011-08-08 3/4"X16 12 08 0908 24 11.1 22
SW16011-10-08 7/8"X14 12 08 0910 30 12.7 27
SW16011-10-10 7/8"X14 16 10 0910 31 12.7 27
SW16011-12-10 1.1/16"X12 16 10 0912 34.5 15.1 32
SW16011-12-12 1.1/16"X12 20 12 0912 34 15.1 32
SW16011-16-16 1.5/16"X12 25 16 0916 36 15.1 38
Note: 1.For use with braided hoses.  2.If use with spiral hoses, hose fitting series number is SW16012-xx-xx.

02-13



Two—Piece Fitting

SN 1%

[ ==prpr=————

A

C

s

T

SW16711

JIC MALE 74° CONE

74| >uw : =
\H J ISO 8434-2--SAE J514
S1
PART NO. THREAD E HOSE BORE DIMENSIONS

DN DASH A Cc S1
SW16711-04-03 7/16"X20 5 03 26 14 12
SW16711-04-04 7/16"X20 6 04 26.5 14 12
SW16711-05-04 1/2"X20 6 04 26.5 14 14
SW16711-05-05 1/2"X20 8 05 26.5 14 14
SW16711-05-06 1/2"X20 10 06 26.5 14 17
SW16711-06-04 9/16"X18 6 04 26.5 | 141 17
SW16711-06-05 9/16"X18 8 05 26.5 14.1 17
SW16711-06-06 9/16"X18 10 06 26.5 14.1 17
SW16711-08-06 3/4"X16 10 06 31.5 16.7 22
SW16711-08-08 3/4"X16 12 08 32 16.7 22
SW16711-10-06 7/8"X14 10 06 33.5 19.3 24
SW16711-10-08 7/8"X14 12 08 34 19.3 24
SW16711-10-10 7/8"X14 16 10 35 19.3 24
SW16711-12-08 1.1/16"X12 12 08 38.5 | 219 30
SW16711-12-10 1.1/16"X12 16 10 39.5 | 21.9 30
SW16711-12-12 1.1/16"X12 20 12 40 21.9 30
SW16711-12-16 1.1/16"X12 25 16 425 | 21.9 32
SW16711-14-10 1.3/16"X12 16 10 415 | 22.6 32
SW16711-14-12 1.3/16"X12 20 12 40.5 | 22.6 32
SW16711-16-12 1.5/16"X12 20 12 43 23.1 36
SW16711-16-16 1.5/16"X12 25 16 43.5 23.1 36
SW16711-20-16 1.5/8"X12 25 16 47 243 46
SW16711-20-20 1.5/8"X12 32 20 47 24.3 46
SW16711-24-20 1.7/8"X12 32 20 53 27.5 50
SW16711-24-24 1.7/8"X12 40 24 53 27.5 50
SW16711-32-32 2.1/2"X12 50 32 62 339 65

Note: 1.For use with braided hoses.

2.If use with spiral hoses, hose fitting series number is SW16712-xx-xx.

02-14



| - ( ‘LERA
Two—Piece Fitting B

[ ——

_A %
C |

-

]QV%Z%%%%%%%LH,,”7nM

SW16711L

JIC MALE 74° CONE

HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A C Y
SW16711L-04-04 7/16"X20 6 04 45 32.5 17
SW16711L-05-04 1/2"X20 6 04 43 30.5 19
SW16711L-05-05 1/2"X20 8 05 43 30.5 19
SW16711L-06-04 9/16"X18 6 04 47 32.5 22
SW16711L-06-05 9/16"X18 8 05 47 32.5 22
SW16711L-06-06 9/16"X18 10 06 47 32.5 22
SW16711L-08-06 3/4"X16 10 06 51 36.5 24
SW16711L-08-08 3/4"X16 12 08 515 | 36.5 24
SW16711L-10-06 7/8"X14 10 06 56.5 40 30
SW16711L-10-08 7/8"X14 12 08 57 40 30
SW16711L-10-10 7/8"X14 16 10 58 40 30
SW16711L-12-08 1.1/16"X12 12 08 63.5 | 44.5 36
SW16711L-12-10 1.1/16"X12 '16 10 64 44.5 36
SW16711L-12-12 1.1/16"X12 20 12 645 | 44.5 36
SW16711L-16-12 1.5/16"X12 20 12 66 44.5 41
SW16711L-16-16 1.5/16"X12 25 16 67 44.5 11
SW16711L-20-16 1.5/8"X12 25 16 705 | 457 50
SW16711L-20-20 1.5/8"X12 32 20 71.2 | 45.7 50
SW16711L-24-20 1.7/8"X12 32 20 71.5 46 55
SW16711L-24-24 1.7/8"X12 40 24 71.5 46 55

02-15



| o ‘ ‘LE
Two—Piece Fitting ST

- % SW17811
I, /.

SAE MALE 90° CONE SAE J513

S1
HOSE BORE DIMENSIONS
P -

ART NO THREAD E DN DASH A C 51
SW17811-04-04 7/16"X20 6 04 25.5 12.7 12
SW17811-05-05 1/2"X20 8 05 27 14.2 14
SW17811-06-06 5/8"X18 10 06 28.5 15.7 17
SW17811-08-08 3/4"X16 12 08 34 19 22
SW17811-10-10 7/8"X14 16 10 38.5 22.4 24
SW17811-12-12 1.1/16"X14 20 12 44 25.4 30

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is SW17812-xx-xx

02-16



. o ‘ LEWA
Two—Piece Fitting L I

SW18611

JIS METRIC MALE 60°CONE SEAT

HOSE BORE DIMENSIONS
PART NO. THREAD E

DN DASH A B S1
SW18611-14-04 M14X1.5 6 04 29.5 17 17
SW18611-16-04 M16X1.5 6 04 30.5 18 17
SW18611-16-06 M16X1.5 10 06 30.5 18 17
SW18611-18-06 M18X1.5 10 06 30.5 18 19
SW18611-20-08 M20X1.5 12 08 35 20 22
SW18611-22-08 M22X1.5 12 08 35.5 20 24
SW18611-24-10 M24X1.5 16 10 39.5 21.5 27
SW18611-30-12 M30X1.5 20 12 45.5 26 32
SW18611-33-16 M33X1.5 25 16 50.5 30 36
SW18611-36-20 M36X1.5 32 20 56.5 33 4
SW18611-42-24 M42X1.5 40 24 59.5 36 46

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is SW18612-xx-xx.

02-17



Two—Piece

Fitting

[T

r

A

B

-]

Z%é@lm
L

|

SW19611

JIS BSPP MALE 60° CONE SEAT

S1
PART NO. THREAD E HOSE BORE DIMENSIONS
DN DASH A B S1
SW19611-04-04 G1/4"X19 6 04 285 | 16 17
SW19611-06-06 G3/8"X19 10 06 30.5 | 18 19
SW19611-08-08 G1/2"X14 12 08 35 20 22
SW19611-12-12 G3/4"X14 20 12 40.5 | 22 30
SW19611-16-16 G1"X11 25 16 44 24 36
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is SW19612-xx-xx.

02-18



. o £ ‘LERA
Two—Piece Fitting e

SW20011-ST

METRIC FEMALE WATERWASH INSERTS

HOSE BORE DIMENSIONS
PART NO. THREAD E
DN DASH A d D
SW20011-22-03ST M22X1.5 5 03 24.5 14 34.5
SW20011-22-04ST M22X1.5 6 04 25 14 34.5
SW20011-22-05ST M22X1.5 8 05 25 14 34.5
SW20011-22-06ST M22X1.5 10 06 25 14 34.5
A
SW10611

METRIC MALEG0° CONE SEAT

S1
ST - HOSE BORE DIMENSIONS
ol alxZIA3 DN DASH A C S1
SW10611-22-04 M22X1.5 6 04 30.5 14 27
SW10611-22-05 M22X1.5 8 05 30.5 14 27
SW10611-22-06 M22X1.5 10 06 30.5 14 27
L
A B |
_ ngi _ SW1M-R
T// ///l
| B . o
50 Y] METRIC MALE 60° SEAT
ij
PART NO. THREAD DIMENSIONS
E F A B L S1
SW1M-22R M22X1.5 M22X1.5 14 14 36 24

STANDARD O-RING NBR

02-18



Two—Piece Fitting

SNGLSY

[ ——

|
|
|
()]

£ ‘;0'0?0?6’1'& N

SW20011-T

METRIC FEMALE WATERWASH INSERTS

PART NO. THREAD E EOSEIEURE O RING DIMENSIONS
DN DASH A d D
SW20011-22-04T M22X1.5 6 04 010.0X2.0( 25 13.93| 35
SW20011-22-05T M22X1.5 8 05 010.0X2.0| 25 13.93| 35
SW20011-22-06T M22X1.5 10 06 010.0X2.0( 25 13.93| 35

02-20



Two—Piece Fitting

SN 1%

[Ty

C A

QN

2 //\@
D

L L]
a ‘_/E“—[ I
! N
&2
SW20111 SW20111-T METRIC FEMALE MULTISEAL
HOSE BORE DIMENSIONS
PART NO. THREAD E DN DASH A C )
SW20111-10-03 M10X1 5 03 18 2.5 14
SW20111-10-04 M10X1 6 04 18 2.5 14
SW20111-12-04 M12X1.5 6 04 18.5 4 17
SW20111-12-05 M12X1.5 8 05 18.5 4 17
SW20111-14-04 M14X1.5 6 04 19.5 45 19
SW20111-14-05 M14X1.5 8 05 19.5 4.5 19
SW20111-16-04 M16X1.5 [$] 04 19.5 4.5 22
SW20111-16-05 M16X1.5 8 05 20 4.5 22
SW20111-16-06 M16X1.5 10 06 20 45 22
SW20111-18-05T | M18X1.5 8 05 21.5 4 24
SW20111-18-06 M18X1.5 10 06 215 4 24
SW20111-18-08 M18X1.5 12 08 22 4 24
SW20111-20-06T M20X1.5 10 06 20.5 55 24
SW20111-20-08 M20X1.5 12 08 23 55 27
SW20111-22-06T M22X1.5 10 06 21 5 27
SW20111-22-08 M22X1.5 12 08 235 5 27
SW20111-22-10 M22X1.5 16 10 24 5 27
SW20111-24-08T | M24X1.5 12 08 22 5.5 30
SW20111-24-10 M24X1.5 16 10 25.5 5 30
SW20111-27-08DT| M27X1.5 12 08 23 55 32
SW20111-27-10DT| M27X1.5 16 10 26 55 32
SW20111-27-12D | M27X1.5 20 12 26 55 32
SW20111-27-10T M27X2 16 10 24 7 32
SW20111-30-12D | M30X1.5 20 12 26.5 6 36
SW20111-30-12 M30X2 20 12 26.5 8 36
SW20111-36-12T M36X2 20 12 26 7 41
SW20111-36-14T M36X2 22 14 26 7 41
SW20111-39-14T M39X2 22 14 28.5 7 46
SW20111-39-16T M39X2 25 16 29.5 7 46
SW20111-42-16T M42X2 25 16 30 8.5 50
SW20111-45-20T M45X2 32 20 31.56 8.5 55
SW20111-52-20T M52X2 32 20 33 9 60
SW20111-52-24T M52X2 40 24 33 9 60
SW20111-64-32T M64X2 50 32 35 14 75

Note: 1.For use with braided hoses.

2.If use with spiral hoses, hose fitting series number is SW20112-xx-xx.

02-21



| o ( ‘LER
Two—Piece Fitting T

SW20141 SW20141-T

45° METRIC FEMALE MULTISEAL

HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A C o 52
SW20141-10-03 M10X1 5 03 41.1 2.5 20.7 14
SW20141-10-04 M10X1 &) 04 43.2 2.5 215 14
SW20141-12-03 M12X1.5 5 03 40.9 4 21.2 17
SW20141-12-04 M12X1.5 6 04 43 4 20.9 17
SW20141-14-04 M14X1.5 6 04 43.4 4.5 21.3 19
SW20141-14-05 M14X1.5 8 05 45.5 4.5 22.2 19
SW20141-16-04 M16X1.5 6 04 43.7 4.5 21.6 22
SW20141-16-05 M16X1.5 8 05 45.8 4.5 22.5 22
SW20141-16-06 M16X1.5 10 06 47.4 4.5 23.2 22
SW20141-18-05T | M18X1.5 8 05 46.8 4 22.6 24
SW20141-18-06 M18X1.5 10 06 48.5 4 242 24
SW20141-18-08 M18X1.5 12 08 52.2 4 25.7 24
SW20141-20-06T | M20X1.5 10 06 47.4 5.5 23.2 24
SW20141-20-08 M20X1.5 12 08 45 5.5 18.3 27
SW20141-22-06T | M22X1.5 10 06 47.8 5 23.5 27
SW20141-22-08 M22X1.5 12 08 62.5 5 27.5 27
SW20141-24-08T | M24X1.5 12 08 61.1 5.5 26.1 30
SW20141-24-10 M24X1.5 16 10 75.4 5 29.6 30
SW20141-27-10DT] M27X1.5 16 10 72.1 5.5 27.8 32
SW20141-27-10T M27X2 16 10 72.1 5.5 27.8 32
SW20141-30-12D | M30X1.5 20 12 81.7 6 33.6 36
SW20141-30-12 M30X2 20 12 81.7 6 33.6 36
SW20141-39-16T M39X2 25 16 89.5 7 34 46
SW20141-45-20T M45X2 32 20 99.1 8.5 384 55
SW20141-52-24T M52X2 40 24 114.1 9 43.4 60

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is SW20142-xx-xx.

02-22



Two—Piece Fitting

SNy

—

SW20191 SW20191-T 90° METRIC FEMALE MULTISEAL
PART N TH HOSE BORE DIMENSIONS

a O. R G DN DASH A C H S2
SW20191-10-03 M10X1 5 03 27 25 35.5 14
SW20191-12-04 M12X1.5 6 04 30 4 37.5 17
SW20191-14-04 M14X1.5 6 04 30 4.5 38 19
SW20191-14-05 M14X1.5 8 05 33 4.5 38 19
SW20191-16-04 M16X1.5 6 04 30 4.5 38.5 22
SW20191-16-05 M16X1.5 8 05 33 4.5 41.5 22
SW20191-16-06 M16X1.5 10 06 35.3 4.5 43.8 22
SW20191-18-05T M18X1.5 8 05 33 4 43 24
SW20191-18-06 M18X1.5 10 06 35.3 4 45.3 24
SW20191-18-08 M18X1.5 12 08 40.5 4 50.5 24
SW20191-20-06T M20X1.5 10 06 35.3 55 43.8 24
SW20191-20-08 M20X1.5 12 08 39.5 5.5 39 27
SW20191-22-06T M22X1.5 10 06 35.3 5 44.3 27
SW20191-22-08 M22X1.5 12 08 41 5 53 27
SW20191-24-08T M24X1.5 12 08 41 55 51 30
SW20191-24-10 M24X1.5 16 10 58 5 58.5 30
SW20191-27-10DT M27X1.5 16 10 56 5.5 55.5 32
SW20191-27-10T M27X2 16 10 56 7.5 55.5 32
SW20191-30-12D M30X1.5 20 12 66.2 6 68.5 36
SW20191-30-12 M30X2 20 12 66.2 8 68.5 36
SW20191-36-12T M36X2 20 12 65.5 7 67 41
SW20191-39-16T M39X2 25 16 76.7 7 73.5 46
SW20191-45-20T M45X2 32 20 91.5 8.5 85 55
SW20191-52-24T M52X2 40 24 109.4 9 100 60
SW20191-64-32T M64X2 50 32 131.75] 14 122.3| 75
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is SW20192-xx-xx.

02-23



Two—Piece Fitting

B
s2

GB METRIC FEMALE FLAT SEAT

SW20211 SW20211-T REF. GBIT 9065,
PART NO. THREAD E HOSE BORE DIMENSIONS
DN DASH A Cc S2
SW20211-10-02 M10X1 4 02 14 6 14
SW20211-12-03 M12X1.25 5 03 14 8 17
SW20211-14-04 M14X1.5 6 04 15.5 8.5 19
SW20211-14-05 M14X1.5 8 05 15.5 8.5 19
SW20211-16-04 M16X1.5 6 04 16.5 8 22
SW20211-16-05 M16X1.5 8 05 16.5 8 22
SW20211-16-06 M16X1.5 10 06 16.5 8 22
SW20211-18-05T M18X1.5 8 05 15 8 22
SW20211-18-06 M18X1.5 10 06 17.5 8 24
SW20211-20-06T M20X1.5 10 06 16 10 24
SW20211-20-08 M20X1.5 12 08 18.5 10 27
SW20211-22-06T M22X1.5 10 06 16 10 27
SW20211-22-08 M22X1.5 12 08 18.5 10 27
SW20211-22-10 M22X1.5 16 10 19 10 27
SW20211-24-08T M24X1.5 12 08 16.5 11 30
SW20211-24-10 M24X1.5 16 10 20.5 10.5 30
SW20211-27-08T M27X1.5 12 08 18.5 10 32
SW20211-27-10T M27X1.5 16 10 19.5 10 32 |
SW20211-30-12 M30X1.5 20 12 21.5 11 36
SW20211-33-14 M33X2 22 14 21.5 13 41
SW20211-36-12T M36X2 20 12 20 13 41
SW20211-36-14T M36X2 22 14 20 13 41
SW20211-39-16T M39X2 25 16 23.5 13 46
SW20211-42-20 M42X2 32 20 26 15 50
SW20211-45-20T M45X2 32 20 25 15 55
SW20211-52-24T M52X2 40 24 25 17 60
SW20211-60-28T M60X2 45 28 26 20 70
SW20211-64-32T M64X2 50 32 26 23 75
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is SW20212-xx-xx.

02-24



Two—Piece Fitting

e ———

&
S2
30° METRIC FEMALE FLAT SEAT

SW20231 SW20231-T REF. GB/T 9065.3

PART NO. THREAD E HOSE BORE DIMENSIONS
DN DASH A C H S2
SW20231-22-08 M22X1.5 12 08 63.3 10 15 27
SW20231-27-10T M27X1.5 16 10 73.7 10 15.1 32
SW20231-30-12 M30X1.5 20 12 84.4 11 18.6 36
SW20231-36-12T M36X2 20 12 92.5 13 18.8 41
SW20231-39-16T M39X2 25 16 90.2 13 17.8 46
SW20231-45-20T M45X2 32 20 102.8 15 20 55
SW20231-52-24T M52X2 40 24 116.2 17 21.8 60

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is 20232-xx-xx.

02-25



| - ( ‘LERA
Two—Piece Fitting e

——

45° METRIC FEMALE FLAT SEAT

SW20241 SW20241-T SEF GBITo0eas
HOSE BORE DIMENSIONS

PART NO. THREAD E DN DASH A C o 2
SW20241-14-04 M14X1.5 6 04 40.5 8.5 18.5 19
SW20241-14-05 M14X1.5 8 05 42.7 8.5 19.3 19
SW20241-16-05 M16X1.5 8 05 43.4 8 20 22
SW20241-18-06 M18X1.5 10 06 45.7 8 21.4 24
SW20241-22-08 M22X1.5 12 08 58.9 10 24 27
SW20241-27-10T M27X1.5 16 10 68.6 10 24.3 32|
SW20241-30-12 M30X1.5 20 12 77.4 11 30 36
SW20241-36-12T M36X2 20 12 74.9 13 27.5 41
SW20241-36-14T M36X2 22 14 77.3 13 27 41
SW20241-36-16 M36X2 25 16 85.7 13 31.5 41
SW20241-39-16T M39X2 25 16 83.9 13 29.7 46
SW20241-42-20 M42X2 32 20 96 15 35.2 50
SW20241-45-20T M45X2 32 20 94.5 15 33.8 55
SW20241-52-20T M52X2 32 20 94.5 17 33.8 60
SW20241-52-24T M52X2 40 24 108.5 17 37.7 60
SW20241-60-28T M60X2 45 28 118.7 20 43.6 70
SW20241-64-32T M64X2 50 32 127.8 23 45.6 75

Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is SW20242-xx-xx.

02-26



A =

Two—Piece Fitting

T
o
SW20291 SW20291-T 90° METRIC FEMALE FLATSEAT
REF. GB/T 9065.3
PART NO. THREAD E HOSE BORE DIMENSIONS
DN DASH A C H S2
SW20291-12-02 M12X1.25 4 02 26.5 8 30.5 17
SW20291-12-04 M12X1.25 6 04 30 8 33.5 17
SW20291-14-04 M14X1.5 6 04 30 8.5 34 19
SW20291-14-05 M14X1.5 8 05 33 8.5 37 19
SW20291-16-04 M16X1.5 6 04 30 8 35 22
SW20291-16-05 M16X1.5 8 05 33 8 38 22
SW20291-16-06 M16X1.5 10 06 35.3 8 40.3 22
SW20291-18-05T M18X1.5 8 05 33 8 37 22
SW20291-18-06 M18X1.5 10 06 35.25 8 41.3 24
SW20291-22-08 M22X1.5 12 08 41 10 48 27
SW20291-22-10 M22X1.5 16 10 56 10 53 27
SW20291-24-08T M24X1.5 12 08 41 11 45.5 30
SW20291-27-04T M27X1.5 6 04 30 10 35.5 32
SW20291-27-08T M27X1.5 12 08 41 10 46 32
SW20291-27-10T M27X1.5 16 10 56 10 51 32
SW20291-30-12 M30X1.5 20 12 65.5 11 63.5 36
SW20291-33-14 M33X2 22 14 71.2 13 65 41
SW20291-36-14T M36X%2 22 14 71.2 13 61 41
SW202391-36-16 M36X2 25 16 76.7 13 70 41
SW20291-39-16T M39X2 25 16 76.7 13 67.5 46
SW20291-42-20 M42X2 32 20 91.5 15 80.5 50
SW20291-45-20T M45X2 32 20 91.5 15 78.5 55
SW20291-52-20T M52X2 32 20 91.5 17 78.5 60
SW20291-52-24T M52X2 40 24 109.4 17 92 60
SW20291-60-28T MB0X2 45 28 119.9 20 106.5 70
SW20291-64-32T MB4X2 50 32 131 23 113.3 75
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is SW20292-xx-xx.

02-27



| - ( ‘LENA
Two—Piece Fitting T

C A

> 37‘57‘
s P A A A A A e

N7

24"

SW20411 SW20411-T

METRIC FEMALE 24° CONE O-RING L.T.
ISO 12151-2--DIN 3865

PART NO. THREAD E HOSEHORE TUBE O.D.| O RING RIMENSIONS

DN DASH A C S2
SW20411-12-04 M12X1.5 6 04 6 004.5X1.5 22.5 1.4 14
SW20411-14-04 M14X1.5 6 04 8 006.5X1.5| 225 1.6 17
SW20411-14-06 M14X1.5 10 06 8 006.5X1.5 23 1.6 17
SW20411-16-04 M16X1.5 6 04 10 008.0X1.5 | 20.5 2.1 19
SW20411-16-05 M16X1.5 8 05 10 008.0X1.5 22 2 19
SW20411-16-06 M16X1.5 10 06 10 008.0X1.5 | 23.5 2 19
SW20411-18-05T M18X1.5 8 05 12 010.0X1.5 24.5 1.5 22
SW20411-18-06 M18X1.5 10 06 12 010.0X1.5 | 27.5 1.5 22
SW20411-18-08 M18X1.5 12 08 12 010.0X1.5 24.5 1.8 22
SW20411-22-05T M22X1.5 8 05 15 012.0X2.0 26.5 3 27
SW20411-22-06T M22X1.5 10 06 15 012.0X2.0 26.5 3 27
SW20411-22-08 M22X1.5 12 08 15 012.0X2.0 29 2.5 27
SW20411-26-10 M26X1.5 16 10 18 015.0X2.0 30 2.1 32
SW20411-26-12 M26X1.5 20 12 18 015.0X2.0 | 28.5 2.1 32
SW20411-27-10T M27X1.5 16 10 18 015.0X2.0 35 2.1 32
SW20411-27-12 M27X1.5 20 12 18 015.0X2.0 35 2.5 32
SW20411-30-10T M30X2 16 10 22 020.0X2.0 31 3.8 36
SW20411-30-12 M30X2 20 12 22 020.0X2.0 34 4 36
SW20411-36-12T M36X2 20 12 28 026.0X2.0 33 4.5 41
SW20411-36-16T M36X2 25 16 28 026.0X2.0 33 4.5 41
SW20411-45-16T M45X2 25 16 35 032.0X2.5 37 4 50
SW20411-45-20T M45X2 32 20 35 032.0X2.5 | 37.5 4 50
SW20411-52-20T M52X2 32 20 42 038.0X2.5 38.5 4 60
SW20411-52-24T M52X2 40 24 42 038.0X2.5 38.5 4 60
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is SW20412-xx-xx.

02-28



. . < ‘LENA
Two—Piece Fitting e

L
i
SW20411C SW20411C-T
METRIC FEMALE MULTISEAL L.T.
PART NO. THREAD E HOSE BORE TUBE O.D. DIMENSIONS

DN DASH A C S1
SW20411C-12-04 M12X1.5 6 04 6 19.5 3.5 14
SW20411C-14-04 M14X1.5 6 04 8 20.5 3.5 17
SW20411C-16-04 M16X1.5 6 04 10 20.5 4 19
SW20411C-16-05 M16X1.5 8 05 10 21 3.5 19
SW20411C-16-06 M16X1.5 10 06 10 21 3.5 19
SW20411C-18-06 M18X1.5 10 06 12 23 3 22
SW20411C-22-06T M22X1.5 10 06 15 23 4.5 27
SW20411C-22-08 M22X1.5 12 08 15 25 4.5 27
SW20411C-26-10 M26X1.5 16 10 18 26 4 32
SW20411C-30-10T M30X2 16 10 22 26 7 36
SW20411C-30-12 M30X2 20 12 22 26 7 36
SW20411C-30-14 M30X2 22 14 22 27 7 36
SW20411C-36-16 M36X2 25 16 28 29 6.5 41
SW20411C-45-20T M45X2 32 20 35 33 7 50
SW20411C-52-24T M52X2 40 24 42 34 8 60
Note: 1.For use with braided hoses. 2.If use with spiral hoses, hose fitting series number is SW20412C-xx-xx.

02-29



